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O YBtA3zi2 80,0002 X 3 X 12d® 2,880
O 282 % NsXtAl
ize 282 700,0002 X 204 1,400
INE=DNIN| 50,000& X 204 100
NENRASELE 50,0002 X 2CH 100
OIEXEE L ML 100,00024 X 2CH 200
O ZHS 22 (NSHHE) 200,0008 X 23 400
O AlA H23H MRS 55,0002 X 313&d X 12& 20,460
O HHSAY A2 260,0009 X 4356 X 129 12,480
O Al A ZEZI|H AIR2 90,0002 X 123&d X 12® 12,960
O HHXl CCTV QIHUIEIA AR 2
130,0008 X 153l X 129 23,400
O Sues =82 8,800 X 2JA X 12¥ 212
O AotEE AIR2 50,0002 X 63 300
O K2OIAAAE AIRE 40,0002 X 123 480
2. 924
O 2=TAA HEH|(AIRA, E2242Y O DHAF)
28 1,2 X BAIZE X 902 X 3MA 2,592
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AR
1. Ol=
O BN2X M= o wors 50,0008 X 5% X 28 = 1,500
2. Sz
O +ZA& gRF 7.0002 X 49 X 1202 = 3,360
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O 445 HA22(HH=P) 7.0002 X 8% X 30¥ = 1,680
214 =KX W H Y 500,000 500,000 0
214-02 (&5t =R DHHI) 500,000{ 500,000 0
A5 E Dt
O % 348 L +2 44 2,000,008 X 150 =| 300,000
O 8l 242 AZE+ L ADBE F|
5,000,009 X 40044 =| 200,000
01 LBrEAZ 4,000 4,000 0
301-12 (JIEt243) 4,000 4,000 0
Mot E D
O M4E 2AS BAE QA0 AHxSH 4,000,008 X 14 = 4,000
717 S . i ==3 At 1,313,000 1,263,000 50,000
231 &I & S AtHI 1,240,000 1,190,000 50,000
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oS AR A
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SteS ARl A
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D=13~50mm 1,000,000& X 3™ = 3,000
751 Ldkate|y| 3,142,686 3,092,332 50,354
101 el 244| 1,222,675 1,204,224 18,451
101-01 (E=%) 1,222,675 1,204,224 18,451
ME AT D
i =2
O 238 22(229) 785,884
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= 3,320,700& X 8™H X 128 = 318,788
8= 2,194,500& X 49%9 X 128 = 105,336
9= 1,847,000& X 49 X 128 = 88,656
O ®B2sY
785,884,000 X 1/12 X 50% X 23 = 65,491
0. & m
O AN2UAZ2RE 111,920
6= 10,6828 X 6Y X 45AI2F X 128 = 34,610
= 9,649 X 8% X 45AI2F X 128 = 41,684
8= 8,663 X 4™ X 45A12F X 128 = 18,713
9= 7,830& X 49 X 45AI12t X 128 = 16,913
O H=4y 16,320
i < Xt 40,000& X 20¥€ Xx 128 = 9,600
JIEVE 20,0008 X 25 X 128 = 6,000
ST AFE Ol & JFAEZ 30,000& X 2™ X 128 = 720
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